Z2014-20I6 POLFARIS RZFA XPIOOO

HEADLIGHT MOUNT
INSTALLATION INSTRUCTIONS

46554 KIT INCLUDES 46560 KIT INCLUDES
LIGHTS SOLD SEPARATELY LIGHTS INCLUDED

1) RZR Headlight Mount #46554
4) 1/4-20 x 3/4" Long SS Pan Head Bolts

( 1) RZR Headlight Mount Kit #46560
(

(8) 1/4-20 SS Flat Washers

(

(

4) 1/4-20 x 3/4" Long SS Pan Head Bolts
8) 1/4-20 SS Flat Washers

(

(

(

(4) 1/4-20 SS Nyloc Nuts
4) 1/4-20 SS Nyloc Nuts (
(
(

2) High/Low Wiring Harness Adapters

2) High/Low Wiring Harness Adapters
2) Specter Driving, D-Series Lights

FITS: (4) D-Series Lights (Sold Separately) 2) SAE Compliant, D-Series Fog Lights

/ MPORTANT N\

Thank you for purchasing Rigid Industries® products for your Polaris®. Installation is fairly simple
with the right tools and good mechanical abilities. If you are not confident in your mechanical
skills, please seek the help of a professional to perform the installation. Please read through all
of these instructions and tips before proceeding with the installation.

It is strongly recommended that this product be installed by a professional.



https://www.carid.com/rigid-industries/

Always disconnect any power sources connected to your
vehicle before servicing fuses or electrical systems.

([ sTEPI1

Twist two knobs and remove hood.
See Figure 1.

Figure 1:

([ sTEP 2

Remove and save (2) T40 screws under hood.
See Figure 2.

Figure 2:




([ sTEP 3

I

Remove and save (2) T40 screws on each side of headlights.
See Figure 3.

Figure 3: Driver side only shown

L/

( sTEP 4

Remove and save (4) T40 screws from the front of the RZR.
See Figure 4.

([ sTEPS )

Unplug factory headlight harness from each headlight and remove entire assembly.
See Figure 5.

Figure 5:




.

STEP 6

I

Remove and save (3) T25 screws from each headlight.
See Figure 6.

Figure 6:

.

STEP 7

L/

Remove headlight and (3) factory springs.
See Figure 7.

Figure 7:




( sTEPSB

Trim (2) inner plastic standoffs flush with headlight bezel.
See Figure 8.

Figure 8:




( sTEP S

Assemble Rigid Industries Mount using (2) 1/4-20 x 3/4” Long SS Pan Head Bolts,
(4) 1/4-20 SS Flat Washers, and (2) 1/4-20 SS Nyloc Nuts.
See Figure 9.

Figure 9:

([ sTEP 1O

Install Rigid Industries assembly using (3) saved T25 screws from Step 6.
See Figure 10.

o ey

Figure 10: &

([ sTEP N

Install Rigid Industries lights using hardware provided with the lights.
See Figure 11.

Figure 11:
1 [}




([ sTEPI12

Repeat Steps 6-11 for remaining side.
See Figure 12.

Figure 12: F

([ sTEPI13

t Re-install RZR Front following Steps 4-1.

[ STEP 14

Complete installation by connecting the power harness in the following manner:

1. Attach the 4 Pin connector (circled) to the PASSENGER'S side OEM connector. 2.
Connect the POS and NEG ring terminals to the corresponding posts on the factory
terminal strip. 3. Connect the 2 pin connector with the green wires to the low
beam, and the connector with the yellow wires to the high beam. Mount the relays
to the firewall to complete installation.

N B R B

Figure 14:



A\,

‘Z

1GID INDUS 7)
D LIGH TN

/IES
Q

Your installation is now complete.

Welcome to the Rigid Nation!

ALSO AVAILABLE FOR YOUR POLARIS RZR XP1000

B-PILLAR MOUNT (2 Seater Only) — FITS (2) D/DXL/R46/SR-Q or SR-M Series Lights — #46533

Dome Light Kit 30" Roof Mount Kits

#46522 RDS-Series #46531
- E or SR-Series #46532
i —

Single A-Pillar Kit

- #46526
Reverse Light )

Mount Kit i " Double A-Pillar Kit

#46534 S ‘ . . —— . e : #46528

I‘, LED Grille

./ #40574

Rock Light Kit

#46539

Learn more about off-road lights we have.


https://www.carid.com/off-road-lights.html



